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Obtained marks

0.No.1 Choose the correct Answer.(6 X 1 = 6)

2 1
1. Order of the transpose of matrix |0 1] is:
3 2
a) 1-by—3 | b) 3-by-—-1 | ¢) 2—-by-3 | d) 3—-by-2
2. Productof[x Y] [_ﬂ is:
a) [x +2y] [ b) [2x—y] [ o) [2y+x] [ d) [2y—«]
3. Arthur Caley introduces the theory of matrices in:
a) 1858 | b) 1958 | ¢) 1758 | d) 1998
K 07. -
4. [0 K] is a scalar matrix if:
a) K=1 | b) K=0 | o K=3 | d) None
5. [\/E 0 ] is called -------- Matrix.
0 V2
a) Zero ‘ b) Scalar ‘ c) Null ‘ d) Identity
6. The order of row matrix is:
a) 1-by—n | b) m—by—1 | c) n—by—n | d m—by—n

Q.N0.2: Cive the Short Answers.(8 X2 = 16)

i. If [a -|6_ 3 . i 1] = [_63 ;], then find aand b

1 2]

ii. Find the Multiplicative Inverse of Matrix B=[_ 3 _=&

iii. Find Product [1 2] [_54_]

ive IfA= [(1) ﬂ then show that A — A" is skew-symmetric Matrix.

v. Find the determinant of [i i]

vi. Define Rectangular Matrix.

vii. Define Diagonal Matrix.

P'iii. IfB = [_11] then evaluate (—1)B.

Q.N0.3: Cive the long answers.(4 + 4 = 08)

a) Solve by Cramer’s Rule.
4x+2y=8 3x-y=-1

6) IfB= [% (1)] then show that BB~ = I.

“Simplicity is the ultimate sophistication”




